B A Sem VI Hons Examination 2021 (CBCYS)
Subject- Education

Course- CC 13

Full Marks- 60 Time- 3 hrs
1. Answer any three questions: 3X10=30
(I FSD ATHT GBI 7S |

a) Determine the coefficient of correlation from the following data by product
moment method and add your comment.
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Students A B C D E F G H I J

Scores in Math :25 22 28 30 30 31 30 33 34 35
Scores in English: 10 13 17 14 13 15 16 15 14 20

b) Calculate QD from the following distribution:
TR 6" QD AT %41

Scores: 90-99 80-89 70-79 60-69 50-59 40-49 30-39 20-29
Freq : 1 2 12 11 31 25 10 8

c) Draw a frequency polygon of the distribution:

RIS 70+ 63 AT AL I2ge [NefT T

Scores: 40-44 45-49 50-54 55-59 60-64  65-69 70-74 75-79 80-84 85-89
f: 1 2 4 4 6 9 5 4 2 3

d) State the need of evaluation in education.

ARSI R TR ATAGATTST I F |

e) Briefly describe two methods of determining reliability of a test.
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2. Answer any six questions from the following: 6 X5=30
RN ame ([ =7 6 20w7 Sed we|

a) Elucidate the utility of correlation in the field of education.

AP T=ofoF ATGTol [RJe F|
b) Write a short note on Kurtosis.
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c) Discuss the characteristics of Median.
THIN NN 47 43 @fe] AT~ F1

d) What is the educational significance of achievement test?

ARAHOTT WOHIA FAFIT® BFY BI?

e) Calculate the Standard Deviation from the following distribution:

TR 6T I pifs [HefT 31

Scores: 16-19 20-23 24-27 28-31 32-35  36-39 40-43  44-47 48-51
f: 1 2 3 3 5 10 4 1 1

f) Write down the characteristics of CRT.
CRT 99 (M5 SR (1Y

g) Mid points of the class interval of a distribution are 80, 87, 94, 101, 108
respectively.
i)Determine the class boundaries of the five class intervals.
i) What is the length of the class intervals of the distribution?
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h) Calculate the correlation coefficient between the two sets of test scores by the
Rank Difference method.
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Students : A B C D E
Scores in History : 8 7 9 5 1

Scores in Education 10 8 7 4 5



